Clearly Exponential Relations Do Not Have a Common Finite Difference.  Maybe They Have a Common Ratio.

(Instead of Subtracting the Top Number from the Bottom Number,  Divide:  Bottom Number ÷ Top Number)
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How do the finite ratios connect to the equation? _________________________

____________________________________

____________________________________

What does the first number in the equation tell you about the graph?

___________________________________

___________________________________
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What happens if the base of the exponent is bigger than 1? _____________

What happens if the base of the exponent is less than 1? ______________
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